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1.A business analyst is creating a story One visualization must be scaled only vertically.
Which steps are needed to apply this in the storytelling view?

A. Select the Effects library to rescale the visualization

B. Select Edit in the Snapshot library and rescale the visualization

C. Select Unlock the snapshot and rescale the visualization

D. Select Edit on the visualization and enter the new height

Answer: B

2.A business analyst is creating an app for the sales department
Users of the app most be able to create sheets and analyze data. The salesdepartment has several
additionalrequirements

* Reuse the global sales visualization

* Create new visualizations

. The app has over 100 visualizations

Users will NOT have access to the full data model

What should be added to the master items to meet the requirement?
A. < All fields as dimensions and measures

« All visualizations

B. « All fields as dimensions and measures

* Selected visualizations

C. * Seated fields as dimensions and measures

* Selected visualizations

D. « Selected fields as dimensions and measures

« All visualizations

Answer: A

3.A business analyst is creating an app that requires several visualizations

* A scatter plot mat shows the margin percentage and total sales by product category

* A map with a the layer that visualizes lines between retail stores and lactones

* AKPI that shows total cost

Margin% can be calculated by dividing profit by revenue Profit is the difference between total cost and
total sates

Which two sets of fields can the business analyst use to meet these requirements? (Select two.)
A. Line Geometry

Margin%

B. Product Category

Location

C. Sales Total Cost

D. Product Category Retail Store Location Factory Location

E. Line Geometry

Answer: C,E

4.A business analyst creates an app for a large retailer. The app is based on me past #2 months of
transactional data in CSV formal
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After successfully demonstrating the app the retailer provides a tile that contains another seven years of
data

After the new datais loaded the previously responsive app takes 10 times longer to respond to users'
selections. The app has many complex expressions

Which two actions should the business analyst take to resolve the issues? (Select two)

A. Request the data architect to create flagsin the data model to optimize set analysis expressions
B. Use JOIN statements to reduce the number of tables m the data model

C. Make sure a | master items contain variables that define the expressions

D. Replace set analysis with calculated fields in the data manager

E. Create versions of the app using a WHERE clause m the data manager to restrict the data
Answer: A,C

5.A business analyst needs to share a link to a specific visualization with colleagues
Which steps should the business analyst use?

A. 1. Go to the OMC and select App Object

2. Right-click the correct visualization to get the URL

3. Share the URL with colleagues

B. 1. Go to the Dev Hub and select Single Configurator

2. Select Add data

3. Copy the URL from the browser and share with colleagues
C. 1. Right-click the visualization and select Share

2. Select </> Embed

3. Copy the URL and share with colleagues

D. 1. Right-click the visualization and select View data

2. Select Export data

3. Share the provided link with colleagues

Answer: A
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